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All questions are compulsory.
Part A is compulsory for all the students.
Attempt either from Part-B or Part-C.
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PART - A (W1 1)

1.  Write various components of the computer system.

(3)
OR

Differentiate between Second and Third Generation
of Computers. (3}
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2. {(a) Convert the given decimal number into Binary,
Octal and Hexadecimal Number

259.125 (8)

(b) What is System software ? How is it different
from Applications Software ? Give suitable
example. (8)

OR

(a) What is Operating system ? Write the functions
of Operating system. : (8)

(b) What are rules given by E.F. Codd for RDMBS ?
Explain any five with the suitable example. (8)
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3. (a) Explain INTERNET, INTRANET & EXTRANET.

(8)
(b) Write the features BUS, STAR and RING
Topologies. (8)
OR
(a) Explain the following :
(i) URL
(i) HTML
(iiiy TCP/IP
(iv) Video Conferencing ' (8)

(b) Explain the features of client server and Web
Server, (8)
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Describe the various factors responsible for the
success and the failure of Management Information
System,

OR
Explain the term Decision support System. What are

various types of Decision Support Systems ? (8)
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5. (a) Explain the major components of an expert system.
Which components are mostly responsibie for

reasoning capacity ? (8)

{b) What do you mean by Office Automation System ?
What are requirements of office automation ?

(8)
OR

(a) Write the functions of Financial Information
System. (8)

(b) What is Executive Information System ? Write
down its characteristics. (3)
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6. (a) Explain Human Resource Information System and
its functions, (8)



566 7

(b) Write down the need and characteristics of
Manufacturing Information Systems. (8)

OR

(a) Explain the characteristics of Marketing
Information System. (8)

(b) Write the usage of Transaction Processing System.

(8)
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7. Write the Output of the following functions :

(i) SQRT(-16)

(i) ABS(-4)
P.T.O.
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(i) AVERAGE(12,14,16,20)

(iv) MAX( 1000,2000,-20) ' (8)
OR

" What is logical function ? Explain any Four logical

functions with _the example. (8)
e tﬁr«F?l ® IeE H A
(i} SQRT(-16)
(ii) ABS(-4)
(iii) AVERAGE(12,14,16,20)
{(iv) MAX( 1000,2000,-20)
VGW-IET

gEeTT SR w B 3 7 R wm odEm wen &
JeET vfEa =eEn i |

8. (a) For 10 shipments, a record of distance in miles

and time taken is given below :
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A B D
1 Distance Days Estimate Time
2 825 35
3 215 1.0
4 1070 4.0
5 550 2.0
6 480 1.0
7 920 30
8 1350 4.5
9 325 1.5
10 670 | 3.0
-1 1215 5.0
12
13

(i) Find INTERCEPT in cell B12.
(ii) SLOPE in cell B13.
(iii) Estimate Time in the cell D2:DI11. (8)

(b) What is Table? Differentiate between database
and a Table in MS-Access. &)

OR |
P.T.O.
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{a) Calculate the following :

A B C
1 | Name of the housle Rate Commission
2 | House A 100000 10000
3 | House B 200000 20000
4 | House C 300000 30000
5 | House D 400000 40000
6 | House E 500000 50000
7
8
B

(i) Commission received on sale of houses

greater than 3,00,000 in Cell A7.

(i) Commission received on sale of house less

than 2,00,001 in Cell AS.

(iii) Total commission on sale of aj] houses in Cel]

Co.

(8)

(b) What is Query ? Write down the various types of -
queries that can be yused jn MS-Access. (8)
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A B D

1 U o FTE T
2 825 35
3 215 1.0
4 1070 4.0
5 550 2.0
6 480 1.0
7 920 30
8 1350 4.5
9 325 1.5
10 670 3.0
11 1215 5.0
12

13

(i) ¥ B12 ¥ INTERCEPT 7 hifor !
(i) = B13 ¥ SLOPE
(iii) ¥ D2DI11 ¥ T =1 S
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A B C

1 | T oAm w® T
2 | EH A 100000 10000
J | 9=F B 200000 20000
4 | 7R C 300000 | 30000
5 | %@ D 400000 40000
6 | T E 500000 50000
: :

8

9
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9. (a) What is the difference between creating a table in
datasheet view and in the design view ? Explain

with example. (8)
(b) Find the frequency of the given data (8)

A | B C D E
1 12 23 34 45 54
2 21 9 24 16 42
3 34 25 8 41 53
4 8 | 28 38 48 18

Is |15 5 25 35 54

6
7 Range Range | Frequency
8 0 10
9 11 20
10 | 21 30
n |3 40
12 | 4 50
13 | 5l 60
14
15 | Maximum

Frequency
16 | Minmum

Frequency

P.T.O.
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(i) From a given series of numbers between
Al to ES5 find the Frequency in cell C8:C13,
Also find Maximum Frequency in Cell B15
and Minimum Frequency in cell B16.

OR

(a) The following table gives year wise sales (in
rupees) figure of following salesman.

A B C D F

Name of the 2010 2011 2012
salesman

A 100000 | 12000 10000

200000 | 15000 20000

300000 | 32000 30000

400000 [ 45000 | 40000

mIigio|w

500000 - | 50000 | 50000

|l |luvls|w| N

(i) Calculate Total Sale made by the salesman
in F2, F3, F4, F5, Fe6.

(ii) Calculate the sales of 2010, 2011 & 2012 in

- Cell B7, C7, D7 usmg Excel functions/
formula, (8)
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(b) What is the need of primary key in a Database ?
Explain with the help of suitable example.  (8)
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A B . |cC ~|D E
1 12 23 34 45 54
2 |2 9 24 16 42
3 | 34 25 8 41 53
4 |8 28 38 48 18
5 15 5 25 35 54
6
7 {9k Rex grafer
§ |0 10
9 |1 20
10 | 21 30
11 {31 40
12 | 4 50
13 | 51 60
14
15 | sfoerew

g
16 | =
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A B C D F
1| et @ 2010 2011 2012
i }
2 A 100000 | 12000 | 10000
3 |B 200000 | 15000 | 20000
4 | cC 300000 {32000 | 30000
5 {D 400000 | 45000 | 40000
6 | E 500000 | 50000 | 50000
7
8
9

(i) F2,F3,F4,F5,F6 ¥ Refraiat arq = T W
Rt =1 wRee i |

(ii) v & we /4 = e e A B7,C7,D7
¥ 2010,2011, 2012 & R =7 TRew Fifse
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